
*If selecting N.A. please provide a rationale 

 

At least seven (7) total points are required for the whole core ability to be met.  
At least two (2) indicators must have received an NA for the overall artifact to equal NA.  
 

Overall Final Score (Check one):  Met  Not Met      N.A.* 

Additional Information for institutional expectations: 
• This artifact appears to be original work by the student          Yes    No  

 

• This artifact was communicated using college level skills        Yes    No  

Core Ability - Use Technology Effectively    

 Core Ability Indicators 

The artifact 
demonstrates that the 
Learner… 

3 points 2 points 1 point 0 points Points 
Not 

Applicable 
 

Indicator #1: 

Interprets 
specifications/directions 
to use technology 
effectively. 

3 points:  

Artifact 
demonstrates 
learner’s 
understanding of 
specifications / 
directions 
necessary for 
applying the 
technology 
correctly and 
appropriately for 
the artifact. 

 

2 points: 

Artifact 
demonstrates 
learner’s 
understanding of 
specifications / 
directions 
necessary for 
applying the 
technology 
usefully, with 
minor flaws. 

 

 

1 point:  

Artifact 
demonstrates 
learner’s 
understanding of 
specifications / 
directions for basic 
or rudimentary 
use of technology; 
understanding was 
significantly flawed. 

 

 

0 points: 

Artifact 
demonstrates that 
the learner did not 
understand the 
specifications / 
directions for 
correct use of 
technology. 

 
 

 
 
 
 
 
 
 
 
 
 

Points   

 
 

Indicator #2: 

Selects procedures, 
processes, equipment, 
appropriate tools, and 
technological resources 
to produce desired 
results. 

3 points:  

Artifact reflects the 
selection of a 
useful and 
optimal form of 
technology. 

 

 

2 points:  

Artifact reflects the 
selection of a 
useful but not 
optimal form of 
technology. 

 

 

1 point: 

Artifact reflects the 
selection of a 
related but not 
completely 
useful form of 
technology. 

 

 

0 points:  

Artifact reflects the 
application of a 
form of technology 
that was not 
useful. 

 

 

 
 
 
 
 
 
 
 
 

Points   

 
 

Indicator #3: 

Applies 
specifications/directions 
to use technology 
effectively. 

3 points:  

Artifact reflects 
that all 
specifications / 
directions for use of 
technology were 
followed. 

 

 

2 points:  

Artifact reflects 
that most 
specifications/ 
directions for use of 
technology were 
followed. 

 

 

1 point: 

Artifact reflects 
that some 
specifications / 
directions for use 
of technology were 
followed. 

 

 

0 points:  

Artifact reflects that 
specifications / 
directions for use of 
technology were 
not followed. 

 
 

 
 
 
 
 
 
 
 
 

Points   

 
 

Indicator #4: 
 
Uses technology to 
facilitate the production 
of desired results. 

3 points:  

Artifact meets all 
specifications / 
requirements for 
the desired final 
product. 

 

 

2 points: 

Artifact meets 
most 
specifications / 
requirements for 
the desired final 
product. 

 

 

1 point: 

Artifact meets 
some 
specifications / 
requirements for 
the desired final 
product. 

 

 

0 points:  

Artifact does not 
meet the 
specifications / 
requirements for 
the desired final 
product. 

 

 

 
 
 
 
 
 
 
 

Points   
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Total Points _____ 


